mean # PXL hits vs eta

<pixel hits> [

5_ .......

=

0.95

mean # PXL Layers with measurement vs eta |

<pixel layers> [

I w
N U W U

=
()

.....................................................................

0.95

—fitted4_T000evt

<strip hits> [

Ratio

12

10

%M_orlgmal_lo Oevt

M
M_fit_nocpe 1000evt
M~ fit_cpeOK 1000evt

M_original_originalvector_1000evl

0.95

H 4
= |4 b

e

R HIRES LANARE *
e + ARR R B
JF ne
I i+ h
B +
i

W rrrrJrrrrr
|
N

<strip layers>

Ratio

.....................................................................

0.95

11 11 1
- H H 1|
[ |+ L[l TI#
L RS L gs
. x|
B T ¥ %[ b kA NN _’_Zﬁ
i Al T LT | ] | *|x|T
- H ’ f2ann 11
- o4 * AT L * T+
= SUESREIRERN Rk Ll | [T
+ o E
- T g 4 4
L : ! 1
* : ; 4+



	Contents
	Page 1


